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31 > 14115 17 20 22 245 27 30 32 35 37 40 42 45 47 50 52 55 m
6 56 48 39 35 3 3 26524522 205185175 16 15 135 13 12 t

31 - 158 17 20 22 25 274302 32 35 37 40 42 45 47 50 m
6 55 45 4 34 3 3 28 25235215 2 185175 16 t
31 - 165 17 20 22 25 27 287 317 35 37 40 42 45 m
6 58 48 42 36 33 3 3 26525 225215195 t
()
31 - 167 17 20 22 25 27 291 321 35 37 40 m Wi W
6 59 48 43 37 33 3 3 27 25523 t 6
- 04t
3 - 17 20 2 25 27 295 325 3% m 3 N
6 49 44 37 34 3 3 275t (m)
31 > 172 20 2 25 21 30 ——=w ol
6 5 45 38 34 3 i
31 - 172 20 2 25
6 5 45 38 ¢
31 » 143 17 20 22 253957 27 30 32 35 37 40 42 45 47 50 52 55 m
6 49 4 36 3 3 28245225 2 19 17 155145135 12 115 1,05 t
31 - 16 17 20 22 25 27 284289 30 32 35 37 40 42 45 47 50 m
6 56 46 41 35 32 3 3 28526523522 2 185 17 16 145t
31 > 168 17 20 22 25 27 298303 32 35 37 40 42 45 m
6 59 49 44 37 34 3 3 28 2523521 2 18t
(L o
31 > 17 20 22 25 27 303308 32 35 37 40 m -
6 5 44 38 35 3 3 285255 24 215 t 6
-0,06't
31 - 173 20 2 25 27 07312 3 m ¢ N
6 5 4539 35 3 3 26 t (m)
3 . 7720 2 %5 27 N m === =L
6 52 47 4 36 32 t
31 - 177 20 2 25 m
6 52 47 4 t

1100 kg - 3 600 kg
avava, ==

55m 13,7m 17 400
50 m 13,7m 16 300
45m 13,7m 15200
40m 13,7m 14 100
35m 13,7m 13 000
30m 13,7m 11900
25m 13,7m 10 800

H(m) | 384 30,9 20,4
ik (t)) 75 50 50

H(m)| 384 309 204
A (f)| 60 35 35

Hm) | 387 297 197 97
& (] 70 65 60 55

H(m) | 447 39,7 34,7 29,7 24,7 19,7 14,7 9,7
k() 70 70 60 60 45 45 45 45

H(m) | 481 447 39,7 34,7 29,7 24,7 19,7 14,7 9,7
i ()] 80 70 60 45 45 45 45 45 45

Hm)| 493 443 393 343 293 243 193 143
A ()] 84 60 42 42 42 42 36 36

H(m)| 543 49,3 443 39,3 343 293 243 19,3 14,3
()] 114 84 60 42 42 42 42 36 36
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ch-PS
hp kW
m/min 32— 86 — 30 —40 — 52 — 70 16 =-43 =15 =20 = 26 — 35
k] i) i) i) 2
t 3 3 3 225 15 0,75 6 6 6 a3 il 25 18 60m
mmin 3 = 12 =536 —48 - 68 > 92 15 = 6 =18 =24 — 34 — 46
! 22
t 3 3 3 225 15 075 6 6 6 558 IS RIS 30 260 m
m/min 0—-79 6,5 48
tr/min
U/min 0—-08 2x55 2x4
rpm
m/min 25 2x4 2x29
m/min 12,5-25 2x7 2x5,.2
m/min 12,5-25 2x7 2x5,2
m/min 15-30 4x5 4x3,7
25 LVF : 40 kVA
400 V (+6% -10%) 50 Hz 33 LVF : 50 kVA
25 LVF 15 i 33LVF 15 m/rgg + 05y
Optima . A Optima f A
oo
10 e b 68 \J
52
30 1 36 ]
0,75 1,5 3t 0,75 15 3t
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